Justin S. Greene Commissioner, District 1

Anna Hansen Commissioner, District 2

Camilla Bustamante
Commissioner. District 3



Anna T. Hamilton Commissioner, District 4

Hank Hughes
Commissioner, District 5

Gregory S. Shaffer County Manager

DATE:

May 3, 2023

TO:

File

FROM:

Bill Taylor, Procurement Manager

Via:

LeRoy Alvarado, Utilities Infrastructure Manager

RE:

Declaration of Emergency to Repair a Water Line Repairs at 2133 Paseo Primero in Hyde Park Estates in Santa Fe, New Mexico for a Total Sum of

\$11,681.73, Inclusive of NM GRT.

## Issue:

Santa Fe County is responsible for supplying County water to the residents within the Hyde Park Estates in Santa Fe New Mexico. On Tuesday April 25, 2023 at approximately 7:45 AM, the Utilities Department was notified of water discharging the roadway near 2133 Paseo Primero in Hyde Park Estates. Once the Utilities Crew arrived on site the source of the water line leak was isolated by the Crew and the roadway closed for traffic safety.

The County Utilities crew determined that the repairs needed to be conducted by a licensed contractor due to the severity of the damage and demolition that would be required to locate the source of the leak and repairs, as well as roadway repairs that would be needed.

The Department first contacted Subsurface Contracting, and Blue Line Construction. Next Generation Contracting, Inc. was the first to respond to the site. The subsurface water line break compromised the roadway. The Contractor exposed the main waterline and found 2 breaks in the compression couplings. They cut and removed 10x20 of asphalt exposed the line and replaced 2 – 2" couplings. The repairs were made by the Contractor and the water returned to the residents the same day. The asphalt repairs were completed on April 26, 2023.

The Utilities Manager contacted the Procurement Manager requesting authorization to call a contractor out to make the necessary inspection and repair of the water line leak, due to the threat to the health and safety of the public.

## Determination:

Due to the threat to the health and safety of the public and staff, that affected the residents of Hyde Park Estates, it is the determination of the County Procurement Manager that the repairs to the water

line at 2133 Paseo Primero in Hyde Park Estates in Santa Fe may be procured pursuant to a declaration of emergency pursuant to NMSA 1978, 13-1-127- Emergency Procurements.

All work and costs associated with this determination will be limited to the repairs of the water line at 2133 Paseo Primero in Hyde Park Estate.

## **Emergency Project Description:**

Contractor:

Next Generation Contracting, Inc.

P O Box 28700 Santa Fe, NM 87592 (505) 989-5855

Location:

2133 Paseo Primero in Hyde Park Estate

Scope of Services:

Emergency call

Located broken water line

Make repairs

Repair and fill, and repaving of effected portion of the road

See Attached Work Order Invoice Description.

**Total Cost for Labor and Materials:** 

\$11,681.73, inclusive of NMGRT

## NEXT GENERATION CONTRACTING INC

28700 PO Box

Santa Fe, NM 87592 505-989-5855

nick@nextgenerationcontracting.com www.nextgenerationcontracting.com Invoice



BILL TO SFCU Po Box 276 Santa Fe, NM 87504

SHIP TO SFCU 2133 Paseo Primero Santa Fe NM 87501

					the second control of	
The state of the s	maken midde have bei bereite beite beite betreite beite ber an in an eine beite beite bei	萨萨萨克克克克斯纳 ""这一个我们的现在分词,但是我们的人们的人们的人们的人们	MARINE AND A MERCANISM INCLUDING AND INCLUDING A SECURE AND ADMINISTRATION OF THE PROPERTY ADMINISTRATION OF THE PROPERTY AND ADMINISTRATION OF THE PROPERTY AND ADMINISTRATION OF THE PROPERTY AND ADMINISTRATION OF THE PROPERTY ADMINISTRATION	A PROPERTY OF THE COLUMN PROPERTY OF THE PARTY OF THE COLUMN PARTY		
TO THE POST OFFI THE STATE OF T	St. M. Scare & manual of the comment of	and the most of the contract o			9- (3/500K)9- D#111-19985 25	部の意味は、ためもいっとはつ。 メー
20 I N V ( 111 ' L/ 4t / 25% / 2% / 2 / 3 / 3	The property of the contract o	A SECOND PROPERTY OF A 1 STATE OF A 1 SECOND	A COUNTY TO YA A PERCENT AND A STATE OF THE PERCENT AND A STATE OF THE PERCENT AND A P	of Control Control of Party and Party Control	Maria Control of the	TARREST MANAGEMENT OF THE SEC.
the second secon	バヤイモ おんじょすけい じんじんじょ しゃしんりょ	A PARTY LAND DOD TO A SECOND	めっちゃっちゃわけけり わみ 上巻 エカンシッジ	TERMS	ENCI OCEN	A
<ul> <li>#1 ##16_0777864_76_900041178-0377.076E-1_0_077.</li> </ul>	A CONTRACT OF SECURITION OF CONTRACT REPORTS OF THE SECURITION OF	the party of the country of the same to be provided to the country of the country	an in the first of the contract of the contrac	The state of the second		
man with a serial manufacture and the following by the serial serial and the serial se	Control of the Section of the Property of the Section of the Secti	er all the marrier and the Francis while I than I had again the company of	the second of th	Commented to the property of the comment of the second	医乳蛋白 经存款 化双氯化化丁基	4. The 4. Control of the 1.
MANAGA CO DIX C	. 0.4 (0.0 (0.000			and the control of th	the man with the the state that the property of the	where it is an armine and
77200269 FM	· HATIKTINIA	\$11 681 73	ひょうりゅうりつ	D		
· (WWOOWO) THIS	<b>ソヤ/ムリ/ムリム</b> リ	911.001.70	U#(Z0/ZUZ)	Due on receipt	and the second s	-
T-1				1240 04 1000101		·
The common and was a common and a second common and	or an extra contract of the co	the second control of	the second second second second		t .	
				to the second control of the control	and the second second second second	

PLEASE DETACH TOP PORTION AND RETURN WITH YOUR PAYMENT.

Called to do an Repair on a Water Leak	et Mora in territorio del Properti del Monte del Parez de Barreto (1809-1809). El properti del Properti del Pr La companya del Properti del Pro		a en Calvalita avelin (1945).
08 UTILITES Cut and Removed asphalt 10x20	1	750.00	750.00T
08 UTILITES Excavated a 10x20 area until the leak was found	1	1,500.00	1,500.00T
08 UTILITES Material Used 2-2" Compresion Couplings, 10' of 2" PVC Pipe	1:	475.00	475.00T
08 UTILITES Track hoe 4 hrs	4 :	60.00	240.00Т
08 UTILITES Bobcat 8 Hrs	8	60.00	480.00T
08 UTILITES Dump Truck 6 Firs	6.	60.00	360.00T
08 UTILITES Gas Saw 3 hrs	3	35.00	105.00T
<b>08 UTILITES</b> Jumping Jack 3 hrs	3	35.00	105,00T
08 UTILITES Tamping Plate 3 hrs	3	35.00	105.00T
<b>08 UTILITES</b> 7 tons of Base Course	7.	27.50	192.50T
<b>08 UTILITES</b> 6 Tons of Asphalt	6	95.00	570.00T
08 UTILITES Traffic Control	1.	1,500.00	1,500.00T
08 UTILITES Supervisor 12 HRS	12	90.00	1,080.00T
08 UTILITES Operatror	13	75.00	975.00T
08 UTILITES Laborer	21	50.00	1,050.00T
08 UTILITES Plumber	22	65.00	1,430.00T

For non taxable Customers Please issue a NTTC to crs #03-226751-007

Always pay not 90 with repayment plans of up to 52 weeks. Learn more at: https://fundboxpay.com/i/nextgenerationcontra

Exclusions: SURVEY/PERMITS/SPECIAL INSPECTIONS/INSPECT/SUB BASE/AND SUB CUT UNLESS STATED/ MOBILIZATIONS DUE TO CONTRACTOR DELAY/PROVIDING ACCESS FOR SCOPE OF WORK TO BE COMPETED/WINTER CONDITIONS/ ELECTRICAL OR PLUMBING TRENCHES OR PADS OR WORK/SOIL CORRECTIONS/EXTRA PRODUCTS FOR ELEVATION CHANGES/ DEMO. AND SAW CUT UNLESS OTHERWISE STATED/ BOND AND OTHER FEES UNLESS STATED/ OVERTIME AND AFTER HOUR RATES.

SUBTOTAL
TAX
TOTAL
BALANCE DUE

764.23 11,681.73 **\$11,681.73** 

10,917.50

SANTA FE COUNTY
ADMINISTRATIVE
INVOICE APPROVAL FOR PAYMENT
Date Received / Rendered: 4/28/23
Amount to Pay \$ 11,1081.73
Misc:
CERTIFIES GOODS RECEIVED / SERVICES RENDERED
Authorized Signature Approves Payment
Bate Approved: